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A boy on a 20 m high building 1,

drops a stone. One sceond later he

throws down another stone; Both

; the stones hit the

ground
simultaneously. The initial velocity
of the second sfone is (g = [0 m/s?)

T=!

(a) 0 Zov | ak ez
(b) 10 my/s Oz u‘ + 235- ¥

(c) 15 m/s Uls Fxtowie

(d) 25 nv's U= (T

The speed-time graph of a car, 2.
moving along a fixed direction “is-
shown in figure below. Oblaix} the |,

distance traversed by the car
‘between 1 — 0 second to t = 10
seconds. (R o it
@o € s
(b) 30m "é
(c) 60 m #

0 SENEN
(d) 120 m o LR
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A girl of mass 40 kg, jumps with a° 3.
horizontal velocily of § n/e onto.8
stationary  cart with fric(ionlcsg
wheels, The mass of the cart is

10 kg. What is her velocity as the
inp? Assume that

anced force

cart starts Moy
there is no external unhal
working in the horizontal direction.

K
e fhas ; ?
(2) 3"/5 wez £ml Y=t
(b) 4 m/s : R
(c) 3!1_1/&: AqxS = jo¥ v
) tmis  _——
W vz

L
X
b5, % QD:U‘{’_’S’W|

Uy
T T8H 20 fix 39 wm d @
e froar &) o dave F AR @
QU TR R S B1 QT wee 0w
T vl Wz €1 g gen @
i An e 37 (g = 10 mis?)

(a) 0°
(b) 10:m/s
(c) 1S m/s

"(d) 25 m/s

WhEN F gE-a me far 3

- gt @ s Pifer o A nform

1 g T A gl =0 Fe
3R ¢ = 10 Fwve F f= gl

(ﬂ) 0 . RiTis

- (b) 307 ; 2
(o) 6O * e i
(d) 120X wm(s)—>

40 kg 7T ATEl Th @&h, Sls

3 A A ATH 10 kg X Al
R ) o &1 o) % e

aqdon it ¥ s A 7y 7 A
Amﬁ_a;_ﬁméﬂweﬁ'ﬂ?ﬂﬂ
& 5 At Rt 3 w0 arigfera 7
T R

(a) Sm/s

(b) 4mls

‘©3mis

(d) 1 m/s

R PRI o

mz 1200

s s
4. A moter-car of mass 1200 kg. L
moving along a straight line with a
uniform velocity of Y0 km/h. Its
velocity is slowed down to 18 kil
in 4 seconds by an unbalanced
cxternal force. The magnitude of the

force is :

Fzmh
(a) 1080 N 3 ik " .g:,uoox{ .
(b) 2160 N 5 sl- -{
(c) 2400 N 2545 - 4
(d) 6000 N

5. A certain force applied to mass m; s,
gives it an acceleration of 10 m/s?,
The same force applicd to mass m,
gives it an acceleration of 15 m/s.
If the two masses are joined
together and the same force is
applied to the combination, the:, ~
acceleration will be :

(@) 3mist ¢ e

(h) 6 m/s? £y mn u=t
(c) 9 m/s?

(d) 12 m/s?

6. A cylindrical block of radius r and &,
mass m is lying on the table and the
pressure acting on the table is P, If
its ‘fidius is doubled and mass is
tripled, then the pressure auting on

the table is : 72X
(a) 2P m=gm
3 T
- A
(b) 4P P?: %AJ_
2 ) /b8
(© gp "
,'(L
b il
(d) EP
KHSL/A 3

me—
- MBT g3 beir

© 20

3
. (h) ZP

o= 2§

u: §mY
y=¢

T4 a: £, 4 (
A 4‘0

@h 1200 kg FMH 41 HICER
90km/h & M B UF UE i@ F
afem =@ @ R A1 awd
sagfea 37 am % Fw 4 e i
9IS km/h 7SI 1 WER T
T A1) 7 5yt = g

+ 4a) 10BN - -
“(by 216N *

(c) 2400 N

(d) 6009 N

G T F R @
10 s |1 & W 2 am
FEME my R 15 m/@ W @ T@
2 I I FEE W W we
‘ﬁm Rt s ot ww @| s
ELE RRECE B ks R
am ‘

@) 3m/s

(b) 6 m/s?

(c) 9mist 1

(d) 12m/s

G AL (cylindrical) TEE 34
v @ 2 fedfi B - oivcgame o
HEER S H R R RIE B ich
frem vl sl zomm diT T w
fn Sm @ 9w @ ww@ aw
e &ni?

(a) 2P

|
(d) 'Z'P
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The density of ice is X gram/em’and 7.
that of walc( is Y’ gram/cn’, What is
lj the change in volume when /n gram

_ il

~

g " of ice melt.?

(a) m U.v-;c)cm‘ oY q)
| (b) (=X} e’ .
@m@ e I o

ko 3
(d) m|[ = il em’ w
Qe

. A boy of mass 50 kg runs up 4 3.

staircase af 45 steps in 9 seconds. If

the height of each step is 15 cm,
o s > .

find his puwer. (g = 10 m/s®) oz 30

gtk ?“"‘"‘5 9
e y!o\t"l; S;“'-‘ S‘:'Tr'
: @ e ; IS‘;“,
(2) 50 W f= ‘-;"
(b) 220 W P ? Soo v §AS
(C) 3.,:‘ \\(I S <io ,.( q
; Sex! 33 5
(d) 500 W ‘&%"‘L gL/"

9, A ball is thrown up with a kinetic 9.

If it reaches a
), the mass
s \0

energy of 20 1
muximum height of 1.0

of the ball is : Lo’ ’:. b
(Take g = 10/s)  R.E* ey
- 4 M
b HE? e
; Lo) £
2ke
e h=29
(c) 4 ke
e M) (d) Tkg
e 4
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a I X gram/cmi aftc wdl @1
gTe y gram/en 81 @ M At

fmerar @ A I@ A i fawn
ufteRd dm?

@) m(»-x) cm’

(b) ( = x)/m em’

(c) m (x+y)em’
(d) m(-l———l-J ey’
y X

% 50 kg AR F  H @
A () T Qg 45 wifgal 9
Az § T 21 At g Wd A
S 15 A T @ ekl Al @
qfgan iR (g 1AM 10 m/s*
i)

(a) 50 W

(b) 220 W

(c) 315 W

(d) 500 W

e it 9 il 3l 1 i @ el

o st 20 T B U i TEH
$rd (et e gad ¢l e
e R &l
(feagane, g =10 n/s?)
, () Vke
(L) 2ke
(c) 4 ke
(d) 7ke

CIF

10. A per

12.

son clapped his hands near @
cliff and heard the echo after 3
1ds. What is the distance of the

seeor
peed of

cliff from the peison il the s
e sound is 346 m/s ?

(a) 692m

(b) 863 m b= jﬂ——i-:—"g"
4
(c) 1650 m 3?' =
1z 25
(d) 1750 m !

g 3 . i
. A wire of given material Thing

length / and area of cross section A
has a resistance of 4 Q. What would
be the resistance of another wire of
(e same material having length /2
and area of cross section 247

@ 19 ; ';i
(t) 20 i

p.: g ﬂk\ 5
@i L (=
@i ' M |\

What is the equivalent resistance
between A and B in the circuit of
figure, ifR =307 -

() 80
(b) 120
(@) 140
) 160
KHSD/A s .

Lz '2—\““ S: 31‘

fuu ¥ ufga s i A B ¥

j0. ua e e @) Tgn & !{mareﬂ.

wlr & o 3wk wfdeafy s Qeve %
qgir] 4T 2t B R @R fwm
346 /s & 1 93H a4 v ¥ d
$) 2t fareht 2fi?

(a) €Y2m
(b) B6S w
(c) 1650 m

(d) 1750 m

. T fen }?Wﬁmlmm

R a1 EA A 21 N F iy
431 <l T % ga O H yiete
fimar gm Ak ax A a=E IR dw
SiuEd F F w24 =i fan’

At i
Gyl =5 . <N 2
i
(1 2 ¢ ]
;
(c) 4£2 :
:
() § 0 g

)

dfia fran gen iy 27 Rangen @
R 30 b
(a) $Q A B !
() 120 RR #
(c) 114 R

(d) 160
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'
& B Whic!\ of the rollov.ving commectly 13, Frififiaa § 4 ada el arﬂ_ﬁga ! 16. The far point of a myopic person is 16, farel Fiwe-fi v & dfea s a1 -
E; =R descnbest the n‘lagtnenc field neer a YT TR % FEe Ak B W ' 50 cm in front QF.”IC eye. The power afeEFmn soemgiwdisa
3 ; long straizht wire ? T a'fvhm 27 : of the.lcns required to correet this A A wif A % o A
(a) The ficld consists of straight () Yoy 8 of) & Yl AT & : . SGcleetis t:2 & A} g e g7
lines perpendicular to the wire. _ C HeEa ) l (@) +1.0D (a) #1001
(b) The ficld consists of straight’ (b) Tahia &7 ) o @ A (b £ 200 (b) +2.0D
ey : e P : (c)-20D (c) -20D
lines parallel to the wire. ; WG Bt (d)-60D (&) 60D =
(¢) The ticld consists of radial lines (c) S & ) 2 g ¢ 4 Al o S ' ;
originating from the wire. ; # R FoA A A A A i rcc::yguj)l ,gglass :l‘:c‘k :fr;:dtc g ;';a’ g’_" #Z fwmf;a W”r'-;m;‘ 5
) b . s ~ nguiar ? clive ] I+ m - £2C 1 S
(d) The ficld consists of concentric . (d) Jehia & ) ¥ A3 tensil 1 index Z is incident on the glass-  aradiE 43 8, wa ok am A
circles centred on the wire. © HZAm A el : = e ; 2\ , an
- air surface at an angle of incidence YA (T, AT T8 T 45° H AMAT
S0 | of 45°. The refractive index of air is = i £ B I 1Y
1E, 14. A typical solar cell generates 14. ¥¥ i“t@aﬁ;( fore s, “]:;a R:?ﬂ : 1. The ray wil & é] T S, 3 :
3 B2 % . 7] i !
electricity when exposed to the sun, s friad) ferzra 3em (a) emerge o air witbou anySn ¢, (o) a7y Pk o s
of about : 7 deviation L M :
= (a) 0.1 W : (a) 0.1 - (b) be reflected back inte glass (b) = & gatda el :
. L : :
© 07 W " © 0.7 w-% i (d) emerge into air with an angle of (d) =g A Fiaeirht ik 00° % amwady
d) 1.0 ¢ fracti | to 90° <
(@ 1L0W (d) | . : refraction equal to = ]
S ‘ I8. Hydrogen has threc isotopes ("H,H 18, TR & dfF wweafa (', M
> ; i e @ A 10 cm 0 W : ('H, :
15. An object is placed at : d's'a?:cﬁ 13, E 3 Ry a7 15 om 2 and H) and chlofine has two IR ) 3 THE F Q@ anahE 3
10 ¢m from acon.vcx mirror o. . & Ry 1 B [ : isotopes (“Cl and V'CP. HCI esctai Tch -
length 15 cm. Find the position o“ sfifea olecule having 18 protons, 19 R, 19 g 30 48 wwn i w
: the image. \‘4_7‘1‘ A Ul neutrons and (8 clectrons has the we
() 30cm 55 AEEN @ formula :"""1
oy, o § (a) 'HC1 paY (@ 'H¥ol
>V % <§3 (c) 12 cm BOK: ¢ (b) 2H L
‘ o  @u (©) A3l
. 7 s § @*¥er - (d) 15l
3 fat{
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19,

20.

22

="

—
TN
A0
( ‘#

What is the molarity of Na* ion in a
solution prepared by dissolving
0.550 pram of NaaSOq in a volume

of 100 ml water. _‘ﬁ?’,{)mi-o

(@) 0.077 27
(b) 0.065
(c) 0.295
(d) 0.142

What is the melecular weight of

phosphorous Py molecule ?
‘ -) 10x4

(a) 31

(b) 124
(c) 148
(d) 256

. The Tyndall Effect is observed in

(a) NaCl solution

(b) Copper sulphate solution
(c) Sode water

(d) Milk

Which of the following is a surface
phenomenon?

(a) Boiling

(b) Evaporation

(¢) Suvlimation

(d) Freczing

mu uusuu D/A

MIVE
RSITY ' 4

19,

24.

-

22,

Na* 3@ & @ faerd W molarity
w wf R 0.5508 NuSOs @l
100 mi T 3 wira AT fa S

e

(a) 0.077
(b) 0.065
(¢) 0.295
(d) 0.142

EIERITE Py 3V 1§70 #4187

(a) 31

(b) 124
(c) 148
(d) 256

(a) tlaC farea
(b) CuSO TRt 3
(c) SodaF@ ¥ .
(d) gaH

o & @ it ware e 87

(@)~ (Boiling)
(b) ";wﬂm (Evaporation)
(c) FAara (Sublimation)
(d) SHAT (Freezing)

e

23, 1 gas is not evolved when a metal

24,

-25,

26,

(b) 7g

reacts with HNOs acid because

‘(a) HNO; is a strong oxidising
agent

(b) HNO; is a strong reducing agent

(c) HNO; is a strong reducing as
well as oxidising agent

(d) HNOy does not react with metal

Mass of 3.011 x 102 nuniber of
nitrogen () atoms is’

(a) 148

No %=
g, 01l X0

flo. o &

23. 1l pas Tl Fraadt s S Ll
HNO, sl @ B sl & witfs

() HNO), U Yed U104

24,

&

() 358 | -

(d)28¢g

Formula of Alumirium sulphate is

(a) Alz SOy

(b) Al (SOs)2
(c) Al (SO
(d) AL(SO4)

Smoke is an cxamble of '
(a) Foam

(b) Emulsion -

(c) Aerosol

(d) Sol

KHSD/A

25.

20,

(axidising agent) &

(b) HNO; @ Taie Soems

(reducing asent) 2

(¢) HINO; U et 317

RULHE o

() 1INOy 211G & B 78 @

3011 » 10% nitrogen
vl &1 VR ?

() 11g
() 71

() 35¢
(d) 28y,

Ugfiifen e (Aluminium

sulphaie) %1 @ ¢
() AL SO

(b) AL (SO
(©) AL (802
() ALSOe);

Yatl uk 3Em e
(a) 3 (w30
(b) 3T
(¢) vdarid w1
(d) Wet (Sol)y

(N) vy &

ALIGARH COACHING |




27. Neulrons are nat present in the
nucleus of atoms of ;

M pr

\ —.N?" ne

=Ny

(a) Hydrogen
(b) Helium
(c) Lithium

(d) None of these

28. Select the balanced reaction :
(@) Fefs)oAH:0(g)—e;0us) +4Hx(g)
(b) 3Fels)14L0(g)-+1e;04(s)+2Hx(g)
(c) 3Fels)4H0(g)-1FeiOuls)+HxAg)
(d) 3Fels)t2£1:0(g)—3Ter0u(s)+2Ha(g) :

29. A solution contains 40 g of common
salt in 320 ¢ of water, What will be
the concenteation in ‘terms of mass

27, =G (Neuwons) fm= qumy
i (nucleus) § 7%
(a) TG
(b) fcm
(c) ToTferm
(d) 30 @ A Al

28. wgfer fren g :
(a) Fe(s)+4H:0(g)—Fes0uls) HH:(g)
(b) 3Fe(s)+4H:0(g)—Fe;0u(s)+2H:(g)
(C) 3Fe(s)+4H20(g)—Fesuls)+4Hx(g)

(d) IFe(s)+2H:0(g)—3Fe;04(8)421:(g)

‘ S
' 3
29, w faemA % 320 g Freve wa d
40 g T T faed 21 forer
@iz mass by mass Sfoma A

ufifan

by mass percentage of (hcl.zcélutic;:/};'?’d; S ;

3-107,_(0 (a) 21% £y "‘w (a) 21%

0 “}ah . e "
Ao (b) 11.1%
H %4 (b) ‘ l.l i gh z.l‘

* S A
@ (c) 8.5% vk id* jd - (©) 8.5%
(d) 35% a0 o ad = (d) 3%
5 o

UNIVERSITY

30. Which of the following is not an
allotrope of carbon ?

(a) Diamond
(1) Graphite
(e) Charcoal
(d) Buckminsterfullerene

KHSD/A

o
o (5

30, fe 3 A 7 # AWET llotrope)
TER?
(a) EEHUE (Diamond) )
(b) ATEE (Graphite)
(c) s (Charcoal)
(d) TG

(Buckminsterfulieren -

3L

33.

3.

HHY

|
How is H—(!—('!—C -Q is named?

H

A (a) Propanol

(b Propanal
(¢) Propanonc -

(d) Propene

. The reaction

CHetClh—"s CH:CHHCI
is an example of

(a) addition reaction

(b) combustion reaction

(c) oxidation reaction

(d) substitution reaction

The functional group of Ketone is

(a) —OIl
(b) =CKO
(c) -CO-
(d) -COOH

Litmus solution is

(a) an acidic purple dye .
(b) a hasic purple dye

(c) aneutral purple dye

(d) none of the al.ove

KHSD/A

HH Fli
31. H-C-C-C=0 1 I 8 Hin?
H
(a) W@
(b) 5@
(c) MER
(d) idh

32. fugmm (i)

CHe-Ch— 2 CHSCIHHC
T R ©

(a) "o Faal &

(b) <& G

(c) i Bl i

(d) wiaemn B =

33. Kelone 1 i TyE =k

(a) -0l :
(b) - CHO :
(c) -C0-

(d) - COOH

34, foomm P 2
(a) @ Fwelta OTE 31
(b) Gl o
(c) e Bemfi T €
(d) goi @@ Wl

owrs LSRN 7L 00
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35, Carl Woese (1977) divided the
Monera 1110 :

(a) Archaebacteria and Eubacteria

(b) Archaebacteria and Archaea

(c) Euba:teria and Bacteria
(d) Euba ‘teria and Cyanobacteria

36. Mycorrhiza exhibits the
phenomenon of

(a) Anlazonism
(b) Semiparasitism
(¢) Parasitism
{d) Symbiosis
37. Which une of the following ceil
organelizs helps to keep the cell
clean by digesting any foreign
material’
(a) Lysosomes
(b) Mitochondria
{c) Chloroplast
(d) Leucoplast

38, Each pollen mother cell by a
meiotic givision, produces :

(a) One haploid microspore
(b) Two haploid microspores
(¢) Three haploid microspores

1d) Four haploid microspores

| ALIGARH MUSLIM

38, el @ (1977) 3 AAQ SO0 A

(a) anfbaadiin aur gaedfar A
ate fem :

(b) s qon et # i
fen

() T wen At aie &

(d) g aur wEREdfE A
e far

306, WTEEHITES o e 6t wan &

(a) Terfisn
(b) arfaiey
(¢) Tuftfesn
(¢) Tamratem
37, IR 1 R TS H0h Y% FH
T B WA R

sl

39, Plant tansport system does not 39, iy il Fier i frw R okag

transport !

(a) COx

(b) Organic salts
(c) Walcr'

(d) Plant hormones

40. Chromosomes are made up of ;
(a) DNA
(b) Protein
(c) DNA and Protein
(d) DNA and Fat
41. Plant carbon is supplied from :
(a) Soil
(b) Air
(c) Water
(d) Sunlight

/ I 42. The hormone that promotes cell
division in plants is :
(a) wgEEm (a) Auxin
(b) FrEERHITTRAT (b) Gibberellin
(¢) FARTE (¢) Cytokinin
(d) TR (d) Ethylene
38, GwEC A GOV AR FifaER O 43. Ciliated columnar epithelium s
fidits fediom & uvan( feeh present in the
1R =) 27
(0) G e FRE ; (a) lutestinal tract
(b) 2 BT Enitionl (b) Respiratory tract
(c) o Reiigs 1R T [ (c) Lining.of Arteries
(d) = Reerige Fifimnm | (d) Lining of Veins
12 J KHSD/A
]
T e B e et L ey o ol O e S g g it

4 v \I}EI‘I’HE
pa AR C o B oy o O LA — o il heieng 1t b

. g e 79 2 €7

. 96 9 e w7 E fireren 27

B L

. el e oufafean (citiared

il o 7

() i I3ianIEe
(b) sl aw

(c) T

() i 2T4T0

(YRl ‘ f
(b) w13 :
(¢) e ao1 g
(d) B der =y

(a) vl B

(b) 7 A

(c) Wil g

() i T |

TR W EHA & S
fevulotd &6 7 TR FRET § -

() siffd
(b) Fereilfer
(¢) wizdlamzfm
(ORUERIE

columnar epithelium) Frefofes 4

Al e g e

() dwr T h (Intestinal tract) ®

(b) w04 el (Respiratory tract) ¥
(€) Wil {Arteries) % T
(d) farail (Veins) Hwd

 ALIGARH COACHING



L l ! :
44. Correct sequence of component . 1 ' ¥
nephron is - PRt ol 4q aefy (nephron) # TR 1 1l 4 :
; ) 48. Peptic ulcers 11¢ caused by : 48 %2 1 wew 41 3R (Peptic ulcers) %
(a) Bowman's capsule, PCT, Loo . F0] 2
of Henle, DCT : @ iﬁlﬂ'ﬂgz, PCT, ¥Fel q, bCT y
. (a) Helicobacrer pyiori (a) PrFldazy maent
O :
(b) PCT, L(‘\op of Henle, DCT, (b) PCT, 37 79, DCT, T i ; (felicobacter pylori) -
Bowman's capsule (b) Rhiwbiun (b) Tt v -
c) Loop of llenl T : .
( ) op G cnie, DCT. PCT (C) %ﬁ?ﬁ, DCT, PCT, ?l\ﬂﬂ Hg? (C) Lactwhacithis () é?a?/'j'ﬁﬂa(]‘w;/gbac,'//,,s)
Bowman’s capsule @8
3 . trepton YD
(d) Bowman's capsule, DCT, PCT, (d) WH’\LZ, DCT, PCT, & it (d) #2r@rF (St eptococcus)
Loop of Tenle
45. Which organelic is involved in the 45, amam % 731 § w9 @ o+ ; 49. Sca anemone is an cxample of : 49. T of T (Sea anemone) fil 1
formation of lysosomes : (organclle) affirfera &t &: fortren: ez 2: g
(a) Endoplasmic Reticulum (a) Sfieht s Endoplasmic (a) Porifera (a) P
i uial Koot Reticutum) (b) Platyhelminthes oy (b) SéRfER
&) Raiatapinitans (b) Tiest & T (Golgi Apparatus) ' (c) Coelentcrata : () da
$) Nucleus . ! ‘ il -
(L? | l.lL e (c) e (Nucleus) : N emada ) @ B
(d) Mitochondria (d) Wm (Mitochondria) ‘ ,
46. Chromatin material is tmade up of : 46, T (Chromatin) fr 4 B fem " S0 Oxytacinis synthesized in the - 56, IR (Oxytocin) @ifm 'r*m,
(2) DNA and proteins (a) DNA G Wi (proteins) & (a) Golgiapparatus - (a) 7Sl S9F (Golgi apparatus) :
(b) Phospholipids (b) ROt aIIRES] (Phospholipids)ﬂ - o) 5 :
(¢) Sugars () kU (Sugars) y (b) Endupla.:mnic reticulum .(5)';,,'-;,-.;;.3% St (Endoplasmic
, (d) sl (Polysaccharides) 8 . . g reticulum) il
(d) Polysaccharides (c) Mitochondriz N 1 L
47. Pollution of our surroundings in the 47, m‘jﬁzﬁ et 1 G STEHTA S bl o (© q‘.'?émﬁ?“ (Ml?ochondna)’i
recent past has resulted because of : H B f s e tltcless (d) F3F (Nucleus) ¥
(a) Biological research (a) A My (Blologncnlv research)
(b) Rapid industrialization (b) a3t (Rapid |
industrialization) i
(¢) Information technology “(c) HEA qFAI (Information
7 technology)
: (d) Fofesmti(“_‘ (d) 'ﬁﬁfﬂ‘" (Fol'ﬁslahon)
1 SDIA 14 '
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51.

52.

83;

54.

" with him, his income is

A man spends 173 of his income on - 51
food. 2/5 of his income on house
rent and 1/5 of his income on
clothes. If he still has Rs. 400 i &

. = e o & 1AW wr-
Qi GT, 2/5 W) T & TR g e
1/5 s ] U ed il 1 gk
yxtrd ufE s urg Rs, 400 Y T

L A e o7 @

1375 (a) Rs. 4000

(b) Rs. 5000

(=) Rs. 6000

(d) Rs. 7000

(a) Rs. 4000
(b) Rs. 5000
(c) Rs. 6000
(d) Rs. 7000

0y
S

(1 >fL"~7

If (x +2) and (x - 1) are factors of 52, afy (2 + 10x2 4 mx ¥ m® (x+2)
(3 + 1063+ mx 4 n), then p:-%* @ (x - 1)m;|-ﬂ§a s
x> P
(2 m=3,n=-3 -3t 4%"37@) m=3,n=-3
(b m=17,n=-8 %1" (b)y m=17,n=-8
(c)y m=23 n=-19 Hl° :F ‘\ (¢) m=23,n=~19
(dym=1, n=-18 :w\':“ (dy m=1, n=-18
1
ht—a+~‘— 'mdy—-a—— then the 51 afa x“a+ a4l y-—u———iﬁ
a
fm
value of x* 3% <27 is ““’ o" E\;*’yﬂ 20y ?5‘ w1 €
() 24 ot n~3' ) 24 —Jr:\wi:—_-slnl_
(b) 18 xto m*\\ (b) 18 T
ne -
() 16 mtl 4 (c) 16 e
A
, RN () 12
@ 12 [
If b is . real number such that 54, uﬁb"’«ﬁarmﬁzm@nmw((%%
p = b + 1. Then which of the pr b+ 1, @ frmtaf A W
following :s not true ? g A 27
(a) P=b+b (@) b'=b"tb

(b) bi=b"rbt]
(©) p=2b+1
@ b’ rb'=b+l

() b =P b+l
(©) B*=2ht1
(&) B =b+ ]

[D/A 16

55, Figure shows a graph for y = f(%). 55.

sigfa iy =/ (x)® T 2t wy

‘The number of zeras of f(x) are : £1 7 (x) 0 p! ) T

/ \\
’ - X/ »__\‘_;____\
oy DRk / i ] D X
{ i
YI \I'l
() 2 (a) '-’1\-
(b) 3 (b) 3
(c) 4 {4
(d) Sldd

(d) infinite

If \Eand—\g are two zeros of the 56, piB J" G —\E TR —’.ﬂ,g

56.
polynomial 3x*+6x-2x"~10x-5 3161 - 201005
then its othertwo zeros are - 23—y FIAD 71 1 317 2 Y ¢ o
| g . Lr\ pa e 1
(@) -1,-1 3n 337 e ST R
X = 7)"‘ & Hv?xn
(b 1,-1 =AW (G
|
(c) l) (C) lv] “ ’Sﬂ
(3,3 (dy 3,-3
: 6 Z'
/ 1 |
57. lfx:}—ZJi,thean——-): 57. Aig- 32 ,_L i Be
A B
W 7-25- L (@) | P
c) 4 L A ) *"
94 " /L_---m @ ¥
(O 3- 10 (@ ¢ niAn ot
L3‘2& 4 '-—-43_ n(n -HHI{"”‘)
2 .
KHSD/A Q,i{q ( 3’—-—*}.“\_‘__
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ALIGARH COACHING
. CENTRE
. >



58. The value of T
5 ) : '
81 —1: IIZ s 3 58 (§_1} -Ty 250 5 ‘-’l 6. How many natwral numbers 61 300 8 <00 & wen ol "Wﬁa
(ﬁ] ¢ [';J : +(§\ . is: 6) “\¥ (h) I hetween 300 to 500 are multiples é@mi?ﬁg%??
l ‘ZJ : 3 of7? a=d,0.23%
: HIHEE an: 49 ; :
. a) 2 (a) 29 3
@ 64 : 3_?. 3 = o | . (a) 29 471 = 3oi ¥ {n-1)3 : :
]562§ § 4 ) 2 ’a) —_— | (b) 28 = = -+ (b) 28 5
3 2 X133/ 2\ 15623 - 4947z 30\ 43Fn
729 - : ) (¢) 27 ¢OF 2947 Fq (c) 27 :
@ il e 129 L
s (i) afi)ie o (0) % 103 -2 @
- 2] * ? .
(c) I e T (©) 1 o
(dy 3 —é— 62. For what value of ¥ does the pair 2. & & fod ¥R % fou vdfram PR
~ S of equations 5t + 2y = 2k and Sx+2y= ka4 :
59 - 2k + 1) x + ky = (3k + 4) have an Wk + ) x+hky=0k+4)F 3797
G TR Y7 A T -
el o )-"' _ FZ T bwt dyzt 2z 59, AR 44942 6xy + 3yz + 2xz infinite number of solutions? Il - A
then Sy' 1 2 ).VJ 4 7 will be equal to H\T 83 + 2P + 2 FTma m (a) s ) k : 5
" (a) 0 (a) 0 (b) k=4 (b) k=4
E (b) 2¢+ dytz—-18 )2 1 1 ’ (b) 2x+ 3tz ~ 1B ayz (©) k=23 (c)k=20
D 4" -3
(C) 18 2 ¢ ¢ \3 18{1}3‘&) ISXyZ ((l) k=-213 (d) k=-213
3 “7&1 =Ha 3
©(d) @43yt 2) (d) (x+ 3y + 2y} . - s
e 3 63. Which term of the AP 63, T A 24.21,18,15,.... F FH |
69/ The equation 2>+ 3x + k=0, has 60, THET 2+ 3x + k= 0 ¥ FRAfaH 24,21,18,15,.... is e first negative Y2 §4m FOTAE R e 7
" “real roots. Then y o o g e B afe teim ? RE T e
2 = !
AT NI " @ n=9 ne? (@ n=9
o i S \
(a) 1\"4 \ ), ~Aal zC (a) 4 (b) n=10 e (b) n=10
- S ] yo 'g —
(b) I .’2 3 - f\‘nl’- =0 (b) ksg (c) n=11 s &H(h 0 (c) m=11
A ' -\ , ¢ () n=8 , 1z 24 -3nt) (d)n=8
(c) k20 () =0 ' ek
< ' 5
() k<0 (d) k<0 7% =13 :
(;24 ')
: el awet [ a4t ()73
> el L A eands
: ] T

18 n | KHSD/A 19
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LOWer s |
(1) \/r}); g ‘ ¥ k
(b) -‘bi @ 1 ‘PQ
87
(c) ab (wq,o 7%
(d) a’t’ *
B, %
K HSD/A :\’ (ut 2
MIMHISIIM
. UNIVERSITY

(MB)

64.

§5. For given o, P [both<§) and if G5,

, 90 W.g)

66.

-

The climination of 6 from
xcos0-ysinG=2and
xsin @ - ycos 0= 4 will give
(@) x*+ v’ =20 ndy-
(b) 3¢ +y? =20

(e) x*--3*=20

(d) -y =10 a,B Z_%v”

cos (a = B) =0, then sin (@ — ) =?

(a) cos B Coy(atB)- ?

(b) cos 2 Qf: -

(c) sin o qo- -8 < 59 S/’ P‘
3 Q0=

(d) sin 20

The aungle of elevation of the top of

a tower from the point P and Q at a
distancz of ‘a’ and ‘b’ respectively
from the base of the tower and in
the same straight line with it are
complimentary. The height of the

64,

0 % PR @ xcos - ysin0=2
GEl xsin6+ycus(3=4ﬂ qre
g

: (i\)‘x2 ')-yl =720

"B“ o

60.

(h) 3x%+ v =20
(¢) ¥*=y*=20

(d) 3x*~y2=10

o TN B F W m(mas(.%%'}
F R AR cos (@ + P) = 0,
sin(a-p)y=?

(a) cos fp

(b) cos2 B

(c) sina

(d) sin 2a

AT & 9§ U 6 W a 990 b
) gt W P A QA farg 1w

firgatl & iaw & frat & 3wm o
g5 v &1 o S am gift?
(a) Vab
a
(b) i
" (0) ab :
(d) o’

07.

-
-

"

—
If e arms of onc angle arc
respectively parallel to the anns of
another angle, ten the two angles

67,

are ‘4

(a) neither equal nor supplementary
(b) not equal but supplementary
(¢) equal but not supplementaty

(d) either equal or supplementary

. 08.

afe fuadl 19 1 Yo R g8t B
&l s;su.;ﬂ & FY: TN G A Ay
bl

(a) 1 A AT En T8 U‘K‘ﬁ
(b) A ‘{"i W

(c) ot g BI{i'L('GF
(ORUERIEER ibied

fafafug we W it

(1) U'lvflg_l‘\iﬂ el s am @
i Ferrl % Al & 9 & aue
A

(ywrpis # FeE e F
n-fagal A fem W
sniepfer s gt R1

s

(i g % Rl 38 W

P o afed €1

Which of these isfare correct? /E—]/ Fud i A 3 /8 TR AR
= .

68. Consider the following statements :

(1) The sum of the squares of the
sides of a rhombus is equal to
the sum of the squares of its
diagonals.

(1) The quadrilateral formed by
joining the mid-points of the
pairs of adjacent sides of a
rhombus is a rectangle.

(I11) Both diagonals of a rhombus
divide it inte four triangles,
which are similar ones.

(a) (1) only

(b) (1), (11) and (101) %

(c) (1) and (11) only

(d) (11) and (111) only .

KHSD/A 2

\(@) Faet (1)

C (b)), (1 ()

 (©) T (1y@m (1)

(d) &ae (11yas (11)
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69. Two chords AR and CD of 2 circle
intersect each other at a point E
outside the circle. If AB = 1] ¢m,
BE =3 cm and Dk = 3.5 cm, then
CD=7?

‘ : S i ‘1/ -~ 7’/‘
A I \ ol
105 {a) 10.5cm N L i

69. qaﬁahﬁam'mamc , Feh
T fg Emfimdt &1 af /3= 1)
¥, BE=3 ¥ qw DE= 3.5,
Acn=2

K28 (@) 10.5 A

) 95em  wr3te W38 AT g o
A0 \. .
(c) 8.5 cm net A 3
. = G (c) 8.5 @t
(d) 7.5 em [——S (d) 7.5 ot

70. In the adjocent figure, O is the
center of the circle, 1T ZABRC = 45°,
then ZAOC is
(a) 30°
(b) 45~
(c) 60"

(d) 90”

71. In the given figure PA OB and RC
are perpendicular to AC such that
PA=x RC =y QB=2AB=¢a and

BC = b. Then the value of i} é
I PR , 4

:%‘ 150/A 22

| ALIGARH MUSUM

70. T arFk 8 0 g9 W Az 2 Ak
ZABC =45° @ ZAOC T

(a) 30° A
[
- (b) 45° :
(c) 60° 0 B
(d) 90°

71, # gl amgfa it A, QB A1 RC, -
© ACHt e 81 af PA=x, RC=y,
QB =z AB=a @M BC=b @

L 1_Lqamdm

XY Z

(a) -1 P "
(b) 1 ¥ Q "
(c) 0 o 3
(d) 2 a B b

72 In the figure AB || CD and P is
any point. Then

ZABP + ZBPD + ZCDP is equal to

(a) 90° A B
(b) 270° :
Sl c e N
(c) 180°
P 4;
(dy 360° g b
73. The points lying on the curve 73
i . 3
:+l:7 arenotin - 2 v
asty m
A2, -1
(2) I quadrant my
4= ANy

(b) 11 quadrant
(c) 11l quadrant
(d) IV quadrant
74. The area of the square ABCD with 74,

A(-z,s)andms.-l)i.”l—tﬁ (Es)
: i

@B g (A

(c) 53
(d) 65
75. ‘The arca of the AOPQ with L 5,
O (0,0, P(1,0),00,1) is:
: LI
(a) I5qunit M=oy, =0
M &9 Lt
(b) -;-sq unit %y S
A o3+ (1-o)xol
T e X e e
(c) 7% unit (g @
2 =\
(d) 2 5q unit
KHSD/A 23

72, gkt A AB ) CD7I P TS T 2l

ZABP + ZBPD + ZCDP @1 H17 2

(a) 90°
{b) 270°
(c) 180"
@360 C D

’

11

2 .1 S el
9% 24 - =7 & i fHu agein o
13 3 1
Tl 2

(a) | SGET
(b) 1=geta

' () =gyl

(d) (v Hrefa

@i ABCD ® &we w1 a ke
A (=2, 3) @ B (5, -1) & fdui
Elakd

(a) 13

(b) 25

(¢) 53

(d) 65

0(0,0), (1, 0) @ Q(0,1) ¥ Al

| AOPQ 1 &% 2 :

(:.\) j H§
() 12 il T

(© @t v
(d) 2 @izt
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76.

Tl

ALIGARH MUSLIM
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The water of the tank, measuring
20m = 15 m x 6 m, lasts for 3 days
in a village. The population of the

76, et nig & fodg gift & & o mg
20 ft x 15t x 6 B && W weh
3 P 3w @ s g1 AR s

village that requires 150 liteis of safth 150 eftet urt wfifes wam
water ner head per day, served b ye BT i i s fat ¢

tly: tan, is. /" dox1 SLE "' ! 19° '1777/

(a) 4000 EJLU' 3“" (t:) o gy
y) 8AG0 S

&)) ?ggﬂu *‘LS“K‘:L— 65? (")) 1(2)880 Sfmf i
(d) 40000 X ,'&“‘w;ouo (d) 40000 16

There are 50 nuinbers. Each number
is subtracted from 53 and the new
mean of the numbers so obtained is
found to be

given numbersis ~ M=Se O
(2) 46.5 g

(b) 495

(c) 53.5

(d) 56.5

jo. AN um contains 25 ball{ numbered

1 through 25. Two balls are drawn
from the urn with replacement. Find
the probubility of selecting both odd

numbers.
B
@ >

"-—25

77. SO e ¥ gl wew @ 53 i @
HZTAT A A1 A4 W6 ~3.5 W e
2| TEma F e R

-3.5. The mean of the

3.5

(a) 46.5

(b) 49.5

(c) 53.5

(d) 56.5
L]

78, W v A 25 i § 5 G0 1 A AR
25 0. @ Feri- e we forl
g ¥ 30 Few A QR o & e
ey A B 3§ aguu gl R
forepreral €) foramrelt sreft &1 < el w

@ s st o1F) ) il B 7

I 13
(a) S (@), ==
- N:Z) : 25
®) Vi) L (b) _9
169 :
© % 6 © 1
i o8
(d) ?6 @ 55 -
sDIA 24

79, Let X be the mean of x;, X35, Xn and
7 be the mean of yy, Yys s Yo If z
is the niean of Xy, Xgpewe o X Y1y Var -0

yn, then Z =7

(a) ¥+

80, Find xand y in the following table,
if median is 32.

Noof |10f x [ 25]30) » {10
students

GF. |l

Marks [0-10]10-20]20-30{30-40}40-50 50-60 Total ‘

i ndp| 45| $5TESH v rm \wn

1

(a) x=9,y=16
) x=16,p=9 »
() x=15,y=10
(d) x=10,y=15

KHSD/A

32 H(%;_-_c.-""]x.k
F .

79, M Fh £y, gy Xa 1 HIEA X AU
Yoo s oo yo W § R uﬁ-l
Xps Kyvs s Xos V1o Yo e Yn . L ez
ez =2

(u) x ¢y

g0, fim amefl A x W y F AR W
iy 7fe wor 328

aa; |0 |(| 1(1:20120-3 nrﬂ)-au\éu SO»:(H;O\ m

wiit | 10 1\ \30 y | 10

% ||

(1) x=9,p=16

100

(by xr = 16,y=9
(¢) x=15y=10
(d) 1 = 10,y=15

al ‘-l-?‘fr Y’Tﬁ
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81. Imperial Bank of India is the old
name of :

(a) ICICI Bank
(b) Altahabad Bank
(c) State Bank of India

(d) Bharat Overseas Bank

82. Which pame, beleved to have
originated in Tamil Nady, is the
National pame of Bangladesh?

(a) Kabaddi
(b) Polo

(c) Hockey
(d) Volleyball

83. Of the |2 constellations incorporated

into the waditional zodiac signs, -«

which is the only non-living thing?
() Capricom

(b) Aquariug

(¢) Virgo

(1) Libra

ALIGARH MUSLIM 2%

81.

mR?

(a) 3 ot arrd v orrg s
(b) e o

(c) Rz ¥ i gfoem

- (d) ma SEuds

82.

83.

et 8 % v v o eefi afirerrg
54 R 9 v wm wmm H i
A 8?

(a) Forgl

(b)

(c) T

(d) aiferara

12 Tmgst o A | w uE Y

* o Tt g 2 50 ol aag &7

(a) 7R
(b) F

(c) @
(d) gen

L

84. Who among (he fo'lowing cannot
participatc in the eclections of
President of India?

(a) Electea members of Lok Sabha
(b) Elected
Sabha

(¢) Elected members of Legislative

members  of  Rajya

Asseniblies of States

(d) Anglo-Indian members of Lok
Sabha and Statc Assemblies

85. Chola Empire in ancient India was
famous for :

(a) Urban Admiristration
(b) Police Administration
(c) Viltage Administration

(d) Militacy Adniinistration”

86, Ibn Batuta is o
traveller a1d historian.

(a) 12th
(b) 13th
(c) V4th
(d) 15th

century

KHSD/A

27

g4, Frm i 2 @ i & ogfa & FAE
& wm 7 & aFare!

(a) T T % fraifen ve
(b) T 7401 % Fratfed Teer

(c) Faur avian % Fraffaa vam

(d) % w3 faur el &

85. S W@ A =ia wueE /i yfg
q7?
(a) T qum ¥ fom
(b) yfe wamem & faw
(c) T wam & e
(d) T e & fo :

86. 591 @gm fFu v @ el
gfommeaT w7
(a) 124
(b) 13l
(c) 1470
(dy 151




87,

88.

ALIGARH MUSLIM |

. UNIVERSITY

89.

90.

“Servants  of India  Society”

provided famine relief and worked
for tribals. It was formed by

(a) Bal Gangadhar Tilak
(b) Gopai Krishna Gokhale
(c) Lalal ujpat Rai

(d) Vivekanand

V. Shamtaram Lifetime Achievement
Award, 2018, has been given to :

(a) Shyam Benegal
(b) Amitabh Bachchan
(¢) Dilip lumar

(d) Anupain Kher

Shaikh  Nizamuddin Auliya
belonged to the

(a) Suhrav-ardi Silsila

(b) Auliyz Silsila

(c) Chishti Silsila

(d) Nagshbandi Silsila

Chameli Devi Award is given in the
field of :

(a) Scicnce
(b) Journalism
{c) Music

(d) Literature

SD/A 28

g7, ‘“whe % Wem wEEd” S
e et sl snfeaftl % g
Fm e ofl, ) e fme
ofi?

(a) e e focrw
(b) Tivaret e T
(C) CAIRAT ST T

(d) feaera

g8, Sfaam A vl *F
. wrreawem yoen 2018 H frd firen
27

(a) TH SHTH
(b) xfiarst e
(c) feefta gaR
(d) S W

89, i@ Fromgdl sftfern i da & A

(a) g Rrefdren
(b) itferan frrfiran
(cy Fargelh Rrfen
(d) TaTER ferifien

00, =vell 2t guem fa & A 3ueifeu
% feu fer v
(a) fori
(b) TEERIRT
(¢) ¥t
(d) Tfeem

91, The first verses revealed to Prophet
Muliammad are incorporated in the
Surah:

(a) Al-Balad
(b) Al-Ma'idah
(c) Al-Alaq
(d) Al-Falaq

92. The third pillar of Islam is
(a) Prayers
(b) Zakat
(c) Hajj

(d) Fasting during the month of
Ramadan

93, In the courtyard of a medieval
juvsiae stands-2 Fmous iron pillar
which bears a Sanskrit inscription i
Gupta script. The name of the
mosque s :

(a) Jama Masjid Delhi

(b) Quwwat-ul-Islam Mosque
(¢) Begampuri Mosque

(d) Khirki Masjid

KHSD/A

29

o1, s o we geg WA j
wgell s it gf @ fora g b !
(14
(a) 3t dcta .
(b) 3F Wiz :
(¢) 3iF S

(d) 5("'( Yooi g

92, g@an i dmn
(a) A4
(b) st
(c) @
(d) i 3 T T T

93, mupglx wfew & W e &
o e 3 fan o el 3 e
A fora o 2, S0 ARR A TMR?

(a) S0 ufE gl

(b) FougE T HER
(c) syl wiE

(d) faeh viese
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94' F.r om the chronological point of g4, Fulsiy 3 AN foreh 7
;uew w!nch 'nf l.hc ‘folluwing is the g@p;f‘mm:ﬁg‘;ﬁ el ’ 98. The Sueay that contains two 98 fipg e 4 3 fafege 87
st major compilation of Hadith 2 Bisbig e

515!
(a) Sahih Bukhari (a) W @l " 1 © (a) Naml (a) 35
(b) Muwatta [mam Malik (b) o e o) B i
(c) Sahih Muslim . (0) Tl wfiem (©) Maida (c) 4
(d) Sunan Abu Dawud (d) T 9 3 i ' (d) Alag (d) 3rTa,

95. The Prime Minister of the 95, i s el oo 3 So ! 99, In which Angle-Mysorc war did 99, @ Y 1 g oe-fm g4 8
Provisional Indian Government in iy Tipu Sultan participate after the I foar & #ll F qoG vm
exile was [ death of his [ather Hyder Ali? fo?

(a) Maulana Barakatullah Bhopali (a) T TEEE e (a) First ] (a) Yeei

(b) Maulana Ubaidullzh Sindhi (b) s Sz fih g . GEw

(c) Rahmat Ali Zaknriys (c) e areht e | () e (c)

(d) Bashir Ahmad - (d) TR e (d) Fgh (@

96. Hujutullan-ai-buigha is wiitiszby: 96, Fmame o7 @k & dww o L :’hi"" city was namcd ‘Daulatabad 100. T Fe 4 5w wre 1 m e
% 2 y the Tughiag Sultan? T AeaEE @

(a) Sheikh Ahmad Sirhind (a) P o frefid) @ Dm“f”_" () e

(b) Shah Waliullah (b) e eI ®) Dm_g"‘ - () 2afit

(¢) Maulana Shibli - (c) wemr frsdt {6} Dol (c) 23

(d) Maulana Abul Kalam Azad (d) M el TH HTSITG (d) D*:ﬂmmpur (d) mg(

97. The frecdom fighter associated with 97, e FE A Fry @ A @

the Kakori Conspiracy was ! TP RY
(a) Ashfaqullah Khan (a) SHFFFE GH
(b) Mauluna Abul Kalam Azad (b) T\ SR FHEATH AR
(¢) Badrddin 'l‘ayynl;jl (c) TEEER cras]
(d) Veer Abdul Hamid : (d) ¥ a7eger wefie
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Answer Key (X1 SCIE CEDIPLOMA [N ENGINEERING) Admission Test 202021 W
: SERIES: A | M’
! B Na. Ansseer Q-i\'-'-'-‘ 1 ANSWwE s YNo, Answer
1 C ] B 81 C
3 c 42 | C 82 5
3 i | -43 2 83 B,
4 D 44 A 84 D
S B 45 B §5 C
6 B 46 A &6 c
7 . B 47 B o B
8 C 48 | A 88 ~
Y s 49 0 59 2 G
1¢ B 50 B’ 90 B
il A 51 C Y1 C
i2 A 52 D 92 B
13 D 53 (& 3 B
it ey 151 4 D 94 B
IS Ly 55 B 93 A
L6 C B Y E UG B
17 {_) - 37 - B 97 A
5 1% C LR g Gy A
i9 ¢ 59 ¢ 99 B
o 20 B 60 H ¥ i T B
= 21 D 61 A '
- 2 B ”‘"“‘-‘1 62 B
£ 23 i 63 2]
3 24 B 64 B v o
25 C J 65 B
‘ ] 26 T 66 bR
}' . 27 A 7 n
g ¢ 68 &
A b 29 $f ¢
2 £ i
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